E2IAE B A DRI A LIET} s B2 HEe)
=2 Aol A Q1A ZpixX
=3 dY/HIE o[o] x|

© HEINRICH KIPP WERK GmbH & Co. KG

X
02

B %:

El Astxel =X| 3.
LIA £2|E.

El 1.4305.

o> o[> 2
oW pm nLI m A

/\E-||°|E-||/\ /\EI |:|.|x-|

a3 ' gstxel =Xl es.
Lw &= 1.4305.

& El 1.4305.

ECO AEI

A T8 WItAM £X| A3
M OoI2a|

AR HH

Z E, EstElx| 3.

LIAF £2]2, HM m|etxZ|

= E E™a.

Eolsg s %'Ql—ll:} EE
OlelA Zx{=

= MELICH a2t B2 A
L.IEF Tt e dxE 22

oF0l| YEe M ddE U=

Y& A XEE 20 ZH EF

A A:
EA A—|71| I:i-|7“|

J|E QlHA =
-1 —

2lat o M ZF
S %EWI EHE &S 7HELc

gotol o] SEEE

www.kipp.com - info@kipp.com

1/3



o
= = —_
S2AE HAYE gl &3 HEIN U= B2 HTH2| ECO 2 E
=2 AH|I|A olHA ERIX]
=5
D2
|
‘ N
]
‘ SW1
~| N .
~J
1
T~ y
- y. N
|| R,
' 95)
D pg
D1
£s 20
FEHS EleJ EA "E D D1 D2 L L1L2 2EZ3 SW1 Fx30° NES; Etd U EZ
S Er 5= max. Nm
F12.N F22.N
K0748.03004060 C AE] 4 M6 18 295 6 6 4 10 1 3,5 9 2
K0748.03004061 C AE] 4 M6x0,75 18 29,5 6 6 4 10 1 3,5 9 2
K0748.03004080 C AE 4 M8 18 295 6 6 4 10 1 3,5 9 2
K0748.03004081 C AE] 4 M8x1 18 295 6 6 4 10 1 3,5 9 2
K0748.03105080 C AEl 5 M8 21 345 8 7 5 13 1,3 6 12 7
K0748.03105081 C AEl 5 M8x1 21 345 8 7 5 13 1,3 6 12 7
K0748.03105100 C AE] 5 M10 21 345 8 7 5 13 1,3 6 12 7
K0748.03105101 C AE] 5 M10x1 21 345 8 7 5 13 1,3 6 12 7
K0748.03206100 C AEl 6 M10 25 41,7 10 8 6 14 1,8 6 12 15
K0748.03206101 C AE] 6 M10x1 25 41,7 10 8 6 14 1,8 6 12 15
K0748.03206120 C AE] 6 M12 25 41,7 10 8 6 14 1,8 6 12 15
K0748.03206121 C AEl 6 M12x1,5 25 41,7 10 8 6 14 1,8 6 12 15
K0748.03308120 C AE] 8 M12 33 54 1210 8 19 2,3 6 13 20
K0748.03308121 C AEl 8 M12x1,5 33 54 12 10 8 19 2,3 6 13 20
K0748.03308160 C AEl 8 M16 33 54 1210 8 19 2,3 6 13 20
K0748.03308161 C AE] 8 M16x1,5 33 54 12 10 8 19 2,3 6 13 20
K0748.03903060 C AE] 3 M6 14 255 6 5 3,5 8 0,8 3,5 8 2
K0748.03903061 (¢} AEl 3 M6x0,75 14 255 6 5 3,5 8 0,8 3,5 8 2
K0748.13004060 C AHQIEA AR 4 M6 18 295 6 6 4 10 1 3,5 9 2
K0748.13004061 C AHE|IQIBA AR 4 M6x0,75 18 295 6 6 4 10 1 3,5 9 2
K0748.13004080 C AEQIBIA AR 4 M8 18 295 6 6 4 10 1 3,5 9 2
K0748.13004081 C AH|IQIBA AEl 4 M8x1 18 295 6 6 4 10 1 3,5 9 2
K0748.13105080 C AE|QIBA AE 5 M8 21 345 8 7 5 13 1,3 6 12 7
K0748.13105081 C AHQIPA AR 5 M8x1 21 345 8 7 5 13 1,3 6 12 7
K0748.13105100 C AHIQIBIA AEl 5 M10 21 345 8 7 5 13 1,3 6 12 7
K0748.13105101 (¢} AEIQIBIA AR 5 M10x1 21 345 8 7 5 13 1,3 6 12 7
K0748.13206100 C AEIQIYA AE 6 M10 25 41,7 10 8 6 14 1,8 6 12 15
K0748.13206101 C AHIQIBA AR 6 M10x1 25 41,7 10 8 6 14 1,8 6 12 15
K0748.13206120 C AEQIBIA AR 6 M12 25 41,7 10 8 6 14 1,8 6 12 15
K0748.13206121 C AHQIA AR 6 M12x1,5 25 41,7 10 8 6 14 1,8 6 12 15
K0748.13308120 C AHQIPA AR 8 M12 33 54 1210 8 19 2,3 6 13 20
K0748.13308121 C AE|QIBIA AR 8 M12x1,5 33 54 12 10 8 19 2,3 6 13 20

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/3



K0748_C

o
= = —_
BalAS! BAH JEIT AR LT} s BE BIHS| ECO A
E2 AH|I|A olHA FE&IX]
EE 2o
E=TEy EFo] ExXAME D D1 D2 L L1l2 AEZ3 SW1 Fx30° AX By zUE=
] EtN = max. Nm
F1 9 N F29 N
K0748.13308160 C AH|QIBA AE]l 8 M16 33 54 1210 8 19 2,3 6 13 20
K0748.13308161 C AE|IQIBIA AR 8 M16x1,5 33 54 12 10 8 19 2,3 6 13 20
K0748.13903060 (o} AEQIBIA AR 3 M6 14 255 6 5 3,5 8 0,8 3,5 8 2
K0748.13903061 C AE|IQIBA AR 3 M6x0,75 14 255 6 5 3,5 8 0,8 3,5 8 2

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



